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Answer all 20 questions from Group A, each question
carries 1 marks.
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Answer all Five questions from Group B, each question
carries 4 marks.
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Answer all Five questions from Group C, each question

carries 6 marks.
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All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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OR (312141)

Describe the manufacturing process of gypsum. (i)

Mention its uses.

foroaw @ sitenfire e fafr &1 qvfa a1 |
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(iii)
What is Crygenies? Describe the manufacturing

process of nitrogen with flow sheet.

ST T 8? P gardfic & arer
ArggloF @ Sared fafdr &1 aufs &Y |
(iv)
OR(3721dT)

Write the manufacturing process of carbon dioxide

with a flow sheet. Mention its uses.
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(31) H,SO,4
(9) H,SO;5
(|) H,S,0¢
(%) HyS,0;

Slaked lime is produced by............ of quick
lime.

(a) Hydrogenation

(b) Hydration

(c) Dehydration

(d) Dehydrogenation

TlFs oIlsH T ST fdad dsd &

CIESIREEE]
(4) sERE

(@) feggaq

(v) feersgiforas

Potassium fertilizer is graded based on its
.................... content.

(c) KNO;
(d) K,SO,
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Answer all Five Questions.

Il ufg gl & SR o

7.

6x5=30

Enumerate the various raw materials used for the
manufacture of ammonium nitrate and describe the
manufacturing process of ammonium nitrate with

a flow diagram. 6

IR ATsg® @ Sured =g ygad fafr=
Fead gerell ® Aeg N T§ @w wdll
SRIUTH © 91 IMIfIH AIscs & Iure+
fafer &1 quie & |

OR (3121an)

Enumerate the various raw materials used for
the manufacture of nitric acid and describe its

manufacturing process with flow diagram.

IR © SUIGT H Aded dod ygrell al
gl 7 ¢d sH> Iaured fafd &1 well SRR
@ gref 9uia N |
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(vi)

(vii)

(viii)
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(@) e AggoE JGIANT S YA
P! HH Bl 2

(@) T A BIg T8

Urea is formed:

(a) In liquid phase

(b) In vapour phase

(c) At very high temperature
(d) At very low Pressure

() 98d S=da a9 uR
(g) sga =1 9w wx

Raw materials for nitric acid manufacture

(a) Hydrogen peroxide, air and water
(b) Anhydrous ammonia and air

(c) Anhydrous ammonia, air and water
(d) Wet ammonia, air and water
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4.

What do you know by complex fertilizers? Name

some of them. 4

AR Sd¥Pd I 3T T I931d & ?
3 4 §B @ A fad |

OR (312141)

What do you know by potassic fertilizer name
some of them.

glefie Sdve 4 39 &1 g9sid & 2 394
4 §9 o W fad |

What do you mean by cement? Write down its
approximate composition.

dRie Fm §9sd © ? ST AgHIIa |REHT
a1 fod |

OR(3721dT)

Write the name of various types of cement?
Describe any one briefly.
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() wiewfed SdR®
(?) 37 & @3 =

Triple super phosphate is made by reading
phosphate with:

(a) Phosphoric acid

(b) Nitric acid

(¢) Sulphuric acid

(d) Hydrochloric acid

feua guwiewe &1 FHivT Bivwe vq
____________ @) gfafear & weawy Bdr 8—
(31) wivwIR® 3r<

@) -sfe® 3

(\) GergRe vl

(@) sgsifas Ris

Cement mainly contains:
(a) Ca0, Si0,, AL,)04
(b) MgO, Si0,, K,0

(c) AL,03, MgO, FeO;
(d) CaO, MgO, K,O
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Answer all Five Questions.

ol uig gl & SR o

2.

4x5=20

Name four big manufacturing concerns of sulphuric

acid in our country and mention their activities.

4

TP & IUIed H Gidd <3 & IR d3
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Catalyst used in Haber process for ammonia
production is:

(a) Reduced iron oxide

(b) Nickel

(c) Vanadium Pentaoxide

(d) Silica gel

e faftr @ smiforar Saares o qgrad
SAND B

(@) Reygzs iz Aawss

@) ffaa

(@) Ifeaw derqarss

() fuferst Sia

Which is best fertilizer for paddy?
(a) Ammonium sulphate

(b) Nitrophosphate

(¢) Super Phosphate

(d) Potassium nitrate

P.T.O



O'L'd

YOSH (p)

t0s (9

t0S‘H (@)

oS (®)

1 9401 Jo sasudwod wnajo 9,01

o (2)
113 (R)
Balk (k)
abrf (I2)

IP|2 IS 1 R ISR MB BIb|™

Keatos (p)

quiox, (5)

2ouey) (q)

Toquiey) (e)

:yse epos 3uronpoid 10J pasn S1 $s990xd

s3Ikl heaji (2)
2L jblokib bYW ()
SHRLSAZ bRyl (b)

kbl bRl (k)

(xx)

(x1%)

(x1x)

[ 1Pl 13 || 7777 e B 18R (1ax)

0eErIL 11

0T0€LN

SpIX0 WnIpos (p)
dreuoqredlq wnipos (9)

9prxoIpAy wnipog (q)
dreuoqIed wnipos (&)

:Po[[BO OS[E SI YSB BpOS

By (2)

Meped BIpY SuBl 2 ()
Reeh BIRY BRERY (B)

2Rk 103 IRG| kb3l B A6 (i)
2 Iblin Ik®| 2R B Bildbhl 77T

[oweuq (p)
[9SSA 1993s paur| pedT (9)

[991s ssouIels (q)
[9SSAA 19938 paul] 1qqny (e)

:ul Pa103s st 70H

2351k bRRYID(h ()

2¢h b (k)

2eaj; (521 (b)

2won ki ()

—2 @apn PbRK @®Rybk D2 LIk

0T0€LN or

(1m1ax)

(11ax)

(11ax)

(1a%)

({1154 ]!



	1: 20 - 1
	2: 2-19
	3: 18-3
	4: 4-17
	5: 16-5
	6: 6-15
	7: 14-7
	8: 8-13
	9: 12-9
	10: 10-11

